0002074275297999
@
/4
N\ @ . .

LAkE 00—

Bl

2015 ¢ 55 3 [ | 0B /248 @ |

3| fx)=logx (x>0) &L, ##Ci:y=f(x) EOXE{, fONIIBT2BHME LT3, HiRL L
AR Cy ty = (x— V2 THENAREOTEME SET5. 0L %, ROMMIEL L.

(1) S#tzHNTERYE.
(2) SERNMNITDtDEERD L. 727ZL, TOLED SOflIFRDL < TL.

M Fy =L &) 0 g=Et rhgt s h YL~
Qe CanBtia w21 e o, 0 (acB)Lace

12~253L+2—‘.1F1+1“,2031‘:O (= 7.
— — ,, _ N o

B e (FEro MR s a+f= 20Tt O, df=37Lel @

S A VEREY]

S = (S £ -1+ Byt ~(x=42)" dx

1

-J@ (=) (X=8) du
o

It

3
-4 -0

e, 0.6 £ ((*—ot)l= (a+B)— 4al

(20 +3) 4 (3~ bgt)

’%3+A%E ~ 4+ 4oyt

I

1!

B-ot >0 . p-d= @«*%—E-m%gr
3

ATA LT, { £l
@ | L= —é—(-_—r; 1—ﬂ.t—'z~4+49p%f)

7

QAXE 1:09<,




0002074275297999

200 ELXE O0—e>>

it

2015 4% %5 3 41 QAL B /2K

3|l fx)=logzx (x>0 &L, g C:y=f(x) EOR &, FUNIZBII 28G5 022, Bl L
MR Cy 1y = (x — S CHENZ O E SETE. 0L X, ROBIZER k.

(1) S% t = HNTHRE.
(2) SEB/MNZTHLOEZRD L. 7L, TOL IO SOMEIFRDESTE.

42 ;
(2 gt = ;l; + 3 —4 t4hgt EF<E. (T>0)
. 2 z
do=-53 -% + 3
41*~4421 -2

- _t_3

o 2(2t=2izt-1)

- =
C}’(‘t)‘:o mﬁ?r % T= 1+d—§ ('-"t>0$'))

[t] o] ~[1+%

7m0 tBIRE S

It . O
) omAIE £e3k3 g tis, 30/

) Y
t:f‘l‘jz—z- ¢

T-@‘h-s S'Eﬁa“gd\(‘(@_gtl; -t,—_-*[.,.‘d_zz

/4




